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QUESTION 1

HTTP basic authentication is supported using the REST API. Which is a valid cookie named?
A. sessionid

B. RestToken

C. RestSession

D. SimpleToken

Correct Answer: D

QUESTION 2

The MiniMessage library allows a developer to display a message window to a user.
Which is a valid message type?

A. Default

B. Custom

C. Dynamic

D. Dismissible

Correct Answer: D

QUESTION 3

Which three MIME Content-Types are supported by REST/RPC protocols?
A. text/xml

B. text/html

C. application/xml

D. application/json

E. application/openOffice

F. application/OpenSocial

Correct Answer: ACD

QUESTION 4
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Merchele is working on a gadget and would like it to render locally. She understands that the OpenSocial Component
will read data from the local replica of the widget catalog. However, she is finding that it is not rendering locally.

Which might be a reason for this?

A. The ACL is not set properly on the local replica.

B. The gadget is using OAuth and needs to run remotely.

C. The IBM Notes client is not capable of handling trust management.

D. An instance of the IBM Domino server with Shindig is installed locally.

Correct Answer: B

QUESTION 5

Why would a developer choose to use the gadgets.io.makeRequest over osapi.http.get?
A. The endpoint is non-trusted.

B. The endpoint requires HTTPS.

C. The endpoint requires OAuth support.

D. The endpoint is hosted in a different domain.

Correct Answer: C
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